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1 State fourreasons why shear bolts might frequently break on a machine. (4 marks)
2 a) Explainwhy adifferential is fitted to a tractor. (2 marks)

b)  Explain why a differential lock is fitted to a tractor. (2 marks)
3 Describe two features of closed centre hydraulics. (4 marks)
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4 State four desirable characteristics of diesel engines, when compared to petrol
engines, when used in tractors. (4 marks)

5  Explain two advantages of using an oscillating spout fertiliser spreader over a twin
spinning disc fertiliser spreader. (4 marks)

6 a) Wherecaninformation regarding the size of an aquatic buffer zone, for a

particular pesticide, be found? (1 mark)
b)  Whatis the reason for having pesticide aquatic buffer zones? (1 mark)
c) How canaquatic buffer zones be reduced? (1 mark)
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7  Explain three effects of inaccurate pesticide application. (6 marks)
8  State three reasons for cleaning out a crop sprayer thoroughly after use. (3 marks)
9  Statetwo advantages of a centrifugal clutch fitted to an all-terrain vehicle (ATV). (2 marks)
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10 State six ways to help prevent a rough terrain telescopic forklift (RTFL) from
overturning, when loading a lorry with grain. (6 marks)

11 a)  Which way should the operator lean, when cornering at low speeds with an ATV
with no differential? (1 mark)

b)  Explain two reasons for your answer in 11a). (4 marks)

12 When using a rough terrain telescopic forklift (RTFL), the safe load indicator stops
working. Describe three actions that should be taken. (3 marks)
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13 You would like an all-terrain vehicle (ATV) for the farm you are working on.
The farmer is considering it, but has asked you to justify its purchase.

Discuss the benefits of having an ATV on the farm and the advantages and
disadvantages it has over a tractor. (12 marks)
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